Revision 2022 1

Topic 1: Sequences, Arithmetic Sequences and Algebra of the sequence

Paper 1

Score 25
Time ——

1) n th term of an arithmetic sequence is 3n + 5 . What is its common difference?
(@) 3 (b) 5 (c) 10 (d) 8

2) Algebraic form of an arithmetic sequence is %n + 1. At what position 4 occurs
as a term in this sequence?

@3 (®7 (10 (@8

3) First term of an arithmetic sequence is 3 and common difference 4

a) Write the algebraic form of the sequence?
b) What is its 10 th term?

4) Consider the arithmetic sequence —1, —4, -7, —10- - -

a) What is the common difference of this sequence?

b) Write the algebraic form of this sequence?

5) Look at the sequence of dots arranged in the triangular manner

a) Write the number of dots in each term as a sequence

b) Write the fifth and sixth term of this sequence.

6) Sequence of squares made using matchsticks are given below




a) Write the number of matchstick used in each figure as a sequence

b) Write the algebraic form of this sequence
7) Consider the arithmetic sequence 3,7,10- - -

a) Write the algebraic form of this sequence

b) How many terms are there in this sequence upto 100?

c) At what position 147 occurs as a term of the sequence?
8) Consider two arithmetic sequences

7,911
42.39,36- - -

a) Write the algebraic form of both the sequences
b) At what position a number occurs as a common term in these sequences

¢) What is the common term of the sequences.
9) Algebraic form of an arithmetic sequence is %n +3

a) What is the common difference ?

b) At what position an integer occurs as a term of the sequence first?

¢) What is the first integer term of this sequence?

10) Look at the pattern carefully

a) Write the number of numbers in each line as a sequence
b) Write the algebraic form of this sequence

¢) How many numbers are there in 30 th line in the pattern
d) Which number comes in the right end of 30 th line

e) Which number comes in the left end end of 30 th line

Answers

)3

2) 7 the position



3)

4)

5)

6)

7)

8)

9)

10)

a) x, =dn+ (f —d)
Tp=4n+(3—-4)=4n—1

by 710 =4 x 10 — 1 = 39

ayd=—-4—(-1)=—-4+1=-3
b) &, = —3n + 2

a) 1,3,6,10---
b) x5 =10+5=15x24 =154+ 6 =21

a) 4,7,10---
b) 3n+1

a) xp, =4n—1

b) 4n — 1 =100,4n = 101,n = 25.2 - n =25
There are 25 terms in this sequence below 100

) dn —1=147,n = 18 = 37.
37 th term is 147
a) For the first sequence z,, = 2n + 5
For the second sequence =, = —3n + 45
b) 2n+5=—-3n+45,2n+4+ 3n =40,5n =40,n =8

c) g = 21 in both the sequences.

a)d:%

b) Whenn = 4,24 = 2 x 4+ 3 = 6(integer)
6 is the first integer term of the sequence. It comes as the 4 th term

c) 6

a) 1,3,5,7---
b) 2n —1

¢) 2x30—1=59
d) 302 = 900

e) 292 +1 =842
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Paper 1

Score 25
Time ——

1) 8@ AVAOMMOCUYHEMIQHS LA allo 31 + HBRYWIGI HaldDAIYD® LIMVo .
(@) 3 (b)5 (c) 10 (d) 8

2) 8@ MVAIMOEUYHM YOS MNIARWMI(@Balo %n+1@@6m“. af)(@INOOD alB3RI6MM”
4?2
@3 (b) 7 (c) 10 (d) 8

3) 8@ TVAIMNOEUYHEMIWHS @ERYBAIB0 3 , HAlIDAIY®{IMVo 4

a) eWYIMIWeS MARVMID@Balo af) D H?
b) cUYMIWHS ald™Io alBo af)@?

4) —1,—4,—7,—-10- - - ag)am 6¢EYMI aIBWM1EB3E

a) ®aldDAY®IOMVo af)(@?
b) cwryeMIes mARVMID@alo af)§DH:?

5) &HOD)HUD (@16HHITMIHD WG (@J3RUTIA[lEBM EUYEMIWIEM @INY HIMAND”

a) 6960) aIBOMIEIYBS HCVDHBOS af)siPo BUYEMIVWIWVT af) ¢

b) @RMIINO@MWQ0 @BRYOINHODVYo alBo af)EDd:.

6) @105l HMJHUI 90164 VN2 IDOEBBBMBINH] GUYEMTWIWV B:06M.2{l@1HBM0




a) 839602 al36BBE1NLIV0 MVN2IDOEBBRAS af)eiNo GUYIMIWIW] af) LD

b) cwryeMIes mARVMID(@Balo af)§DH>
7) 3,7,10 - - - ag)am cWeM] al@1NemM1oaH:

a) M GUYIMIYHS MIARWNEMID(@Balo af)§Dd:
b) 100a®0 @™ cuwysmIVIGE ag)@ I13cEBRgE"?
) 1470 cuyemIN@3 of)@INODT® al3ndem” ?
8) ®I9Y HBHHISOMIBIHS3AN TVAIANOCUYEMIBHUB alBlWEM BB H:

7.9 11---
42,39,36 - - -

a) EME" ¢UYIM BSOSV MIRWMIDGalo af) §DO

b) a@®@’ UOIMO®IEM” EMNE”" GUYEMIBZHUIBBo HAldDAINW alBo DENBIHAND
(?

C) ®ald@AIY® LMo af)(@?
9) 8@ MVAIAMOGUYHIM WSS MARWEMID(@Balo %n + 3@yem”
a) 9ald@AY ™Mo af)@ ?

b) M eEYIMIVIM @RY3IRNIVT af)@IRO@D MLOIMDDIEM af)sIN@3 Vo6
al30IBEaN® ?

C) @RYBYOO® af)eNO3MVoaY0aIB0 aB® ?

10) @969 OHIFOMIV1HBAN 2 l0EQNY EMING D

a) 89602 QIC1VILIYL MVoRIYdSHS af)sRo GUYIMIWIV af) D
b) o™ cEyIMIYeSs MARWVIMIDGBalo af)EDd

C) Qa]®o2OO® QIGIYIM af)@ al3eERzgME" ?

d) 302e0m aIGlVIsEl BRAITVIMAVORIY aB®

e) Qo |®em® QARlWIsel @GRYRIIVoaIY aF® ?



Answers

1) 3
2) 7 the position
3) a) z,=dn+(f—d)
Tp=4n+ (3 —-4)=4n—-1
b) z1p=4x10—1=239

49 ad=-4—(-1)=—-4+1=-3
b) , = —-3n+2

5) a)l1,3,6,10---
b) z5 =104+5=152z =154+ 6 =21

6) a)4,7,10---
b) 3n+1

7 az,=4n-—1

b) 4n — 1 =100,4n = 101,n =25.2 > n =25
100@3 moere 25memgm§‘

) dn—1=147,n = 18 = 37.
37 oo™ alcmoem” 147
8) a) eRBieWwwMIVI® T, = 2n + 5
QEN2000O GUHMWI@ T, = —3n + 45
b) 2n+5=—-3n+45,2n+ 3n =40,5n =40,n =8

€) g = 21 @M’ Hald®ANW albo .

9 ad=3

b) n =4 eWIds , T4 = % X 4 + 3 = 6(agap@davoaly)
6@REM” @RYEIAC af)TRGTVoAIYIAIGZ . BRG 4 NGOG MVLOIMOIIE”

c) 6

10) a) 1,3,5,7---

b) 2n —1
) 2x30—1=59
d) 302 =900

e) 292 + 1 = 842
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For SSLC Examination 2021-22

Topic 2:Difference between two terms of an arithmetic Sequence and common
difference

Remainder on dividing the terms of an arithmetic sequence by the common dif
ference

Paper 2

Score 25
Time ——

1) What is the difference between the fifth term and tenth term of an arithmetic
sequence with common difference 5

@25  ®2  (©30 (d)15

2) The difference between 12 th term and 18 th term of an arithmetic sequence
is 42. What is the common difference?

@3 (10 (@©7 (d11

3) Algebraic form of an arithmetic sequence is 3n + 2

a) What is the remainder on dividing the terms by its common difference?

b) What is the largest two digit term of the sequence?

4) The difference between 5 th term and 10 th term of an arithmetic sequence is
20

a) What is the common difference?

b) What should be added to 20 th term to get 40 th term?
5) 10 th and 12 th terms of an arithmetic sequence are 32 and 46.

a) What is the common difference?

b) What is the first term of this sequence?
6) Algebraic form of an arithmetic sequence is 3n + 7

a) Write the sequence

b) Is 100 a term of this sequence ? How can we realize it?



7) In an arithmetic sequence first and seventh terms are 12 and 102 respectively

a) What is the common difference?

b) Write the algebraic form of the sequence?

¢) What is the remainder when the terms are divided by the common differ
ence?

8) Algebraic form of an arithmetic sequence is 7Tn + 5

a) What is the common difference ?
b) What is the difference between 10 th term and 20 th term of this sequence?

¢) What should be subtracted from 17th term to get 7 th term?
9) Consider the arithmetic sequence 1,7,13,19---

a) What is the common difference?

b) What is the remainder when the terms are divided by the common differ
ence?

¢) What is the largest two digit term of this sequence?
d) How many terms are there below 100 in this sequence?

10) When the natural numbers 1,2, 3,4 - - - are divided by 3 we get the ramainders
1,2,0,1,2,0--- in the order

a) What is the sum of the remainders on dividing the numbers 1,2, 3---10
on dividing by 3

b) What is the sum of the remainders on dividing the numbers 1,2, 3 ---100
on dividing by 3

c) What is the sum of the remainders on dividing the numbers 1,2, 3---100
on dividing by 4

d) What is the sum of the remainders on dividing the numbers 12, 22, 3% - - - 102
on dividing by 3

e) What is the sum of the remainders on dividing the numbers 13, 23,33 - .. 103
on dividing by 3

Answers
1) 25
2) 7

3) a)2
b) 98

4) a) bd=20,d =4



b) 20d =20 x 4 =80 3
5) a) T2 —T19 = 2d
2d =46 —32=14,2d =14,d =7
b) xt1 =210—9d=32—-9x7=32—-63 =-31

6) a) 10,13,16,19---
b) When the terms are divided by the common difference 3 we get the ramainder 1. The number 100
gives the remainder 1 on dividing by 3.
100 is a term of this sequence .
7)) a)6d=102—-12=90,d=% =15
b) , =dn+ (f —d) =15n —3
c) 12

8) a7
b) 10d =10 x 7="170
¢) 10d = 70 should be subtracted

9) a)b
b) 1
c) 97
d) 6n—5=97,6n=102,n = 132 =17
10)  a) The remainders repeats as 1,2,0,1,2,0---. Thesuminagroupis1 +2+4+0 =3
Sum of the remainders on dividing 1,2,3---by3is3 x 3+ 1 =10
by 3 x33+1=100
c) 6 x 25 =150
d) 12,22,32...100% are 1,4,9, 16 - - - 10000
Remainders are 1,1,0,1,1,0---. Suminagroupis1 +1+0 =2
Sum of the remaindersis2 x 33+ 1 =66+ 1 =67
e) 13,23,33... are 1,8,27--- The remainders repeats 1,2,0,1,2,0---. Sum in a group is 3.
Sum of the remainders is (1 + 2+ 0) x 33 + 1 = 100
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For SSLC Examination 2021-22

Topic 2:3@ CVRIMMEEEWIMIYHS AME AI3@RUY MMILIBR NIY@LITVo HA DI LITVATIHM
WeMIMMNIVIBIARO .

AlIBEROB HAINDAUIMLIMVo HRHIE aNAIBEMIIEBB UBlayo

Paper 2

Score 25
Time ——

1) ©a10@AUY® 20V DERYX TVAIMNACUYEMIWAHS @REMII0 alB30)o AlGMIo alB0jo
@ 18|88 QY@ JIMVo af)(@?

@25 ()20 (©30 (d)15

2) MLRMMGUYMTYHS al@eN2do alB30jo al®1HMSIo alB30jo MMILIBS QI §IMVo
426ro@3 ©ald@AY®LITV0 af)@?

@3 ®II0 (@©7 (@11

3) 8@ TVMIAMACUYIMIQHS MARWEMID@Balo 31 + 2@RYem”

a) alB3EBRO8 HaIIDAUI® JITVo HHRHINE a0012J0RIB88 UdlaHo af)(@?

b) agQalo 0Ll EMEBHTVoRIYIIR0 aB® ?

4) TVRAHAGUYEMIWH'S BRIV A lB0Jo AlGMIo al3njo MEEISs Ay oV 20GrRyem”

a) ®ald@AIY®LOMVo af)(@?

b) D@aI®Io aIBEOMIS” af)(@ S1WIG MIE|®I0 alBo &1go

5) 8@ MVMMMEEUYMIQHS 10 alEmo allo 12000 allo agyamlal 32,46 aN®a0wIa3
a) ©ald@AIY®LIMVo af)(@?
b) 6WyIMIYeS @RBaIBo af)@?

6) 8@ MVAANOCUYIMIQYHS MARWEMI®GBalo 3N + 7@RYEM”

a) ®ald@AY®LOMVo af)(@?

b) 100 ™ @UYMIWOS alBMIGEMI? af)IDOHINE” ?



7) 8@ VRIADACUYIMIYHS BRYBYAIBNYo aB®Io ald0jo 12,102 aNmadem”

a) Halo@AIY®{IMVo af)@?
b) cwryeMIes mARVMID@@alo af)§DH:?

C) alIBEERAE Hald@AIY®IOMVo HBHIME" 201203 UdlaHo af)@?
8) 8@ TLMIMMOCUYIMIWHS MIARWMID@Balo 71 + D@RYEM”

a) ®ald@AY® IOV af)(@?
b) al@™mdo alB0jo H@WaI®Io al30jo MMLIBB QUL JIMVo af)(@?

C) al®1eMPIo alBEHIE3 MMM’ af)(@ 020G aB9Io alBo &1g0?
9) 1,7,13,19 - - - ag)am cyeM] aldlemIasd

a) ©ald@AIY®LIMVo af)(@?
b) aIB6RO8 Hald®AII®OMV0 OHBDHIMNE" 2001203 WdlaHo af)@?
) a@Q0jo QL@ EMBHHTVoRIYIalBo aB® ?
d) 100@3 269 af)@ 1363RU3 OmMRIWITIH80 ?
10) 1,2,3,4- -+ agam af)eR@IV0a I H08 3 9:06ME" a0@)a)Gajoud UBlayEBEeS
cwyeml 1,2,0,1,2,0- - - @ayem”
a) 1,2,3---10 aganlaio® 366:06M8" a0@12J0@ Wlako af)@?
b) 1,2,3---100 agamaio® 3603:06ME" a001 288 101aYEBSOS Db af)@?
) 1,2,3---100 agyamlaio® 49:06me" a0@1206)88 101ay6BBSOS @b af)@?
d) 12,22, 32 - - - 10? ag)amaie® 3080”0001 200)88 A IBEBBOS Db o) @?
e) 1%,2%,3% ... 10° apamain® 30@:06ME" 0001 500)88 0 I3EBSHS Dd> 0f)@?

Answers
1) 25
2) 7

3) a)2

b) 98
4) a)5d=20d=4

b) 20d =20 x 4 =80
5) a) T12 — T10 = 2d

2d =46 —32=14,2d =14,d =7

b) 11 =210 —9d=32—-9x7=32—-63 =—-31

6) a) 10,13,16,19---

b) a186mB68 36030612 a0@1 0@ WWlatgo 1 B1gm0. 1006M 3.08:06ME" a0@12J0@3 Klayo 1
100 o™ curyemIes al3zmoem”.



7)) a)6d=102—-12=90,d=% =15 3
b) , =dn+ (f —d) =15n —3
c) 12

8) a7
b) 10d = 10 x 7 = 70

¢) 10d = 70 @0896mo

9) a)b
b) 1
c) 97
d) 6n—5=97,6n = 102,n = 12 =17
10) a) wlayesnd 1,2,0,1,2,0- - aan @20®1@3 @poIdomlesad . wlaysmsges @ 1 +2+0=3
1,2,3- - 00100 3 a0012J0@8 Wlayemges @& 3 X 3+ 1 =10
b) 3 x33+1=100
c) 6 x 25 =150
d) 12,22.32...100% are 1,4,9,16 - - - 10000
wlayezswd 1,1,0,1,1,0---. Qaf@s 1 +14+0=2
wWlayemges @@ 2 X 33 +1 =66+ 1 = 67
e) 13,23.3%... arel,8,27--- wlayeasud 1,2,0,1,2,0 - - - epadomlasm. Qaf @ 3. wlaysmsges
@ (14+2+4+0) x33+1=100
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For SSLC Examination 2021-22

Topic 3: In an arithmetic sequence having definite number of terms sum of the
terms equidistant from both ends are equal.

If the number of terms is even we can make % pairs taking terms equidistant
from both ends.

If the number of terms n is odd there will be a term in the middle without a

pair.This will be ”T“ th term.This term will be half of the pair sum

Paper 3

Score 30
Time ——

1) 3 rd term of an arithmetic sequence is 20. What is the sum of first and fifth
term?

(@) 40 (b) 20 (c) 30 (d) 35

2) Sum of the first and tenth term of an arithmetic sequence is 24. What is the
sum of fifth and sixth term of this sequence?

@48  ®20  (©37 (d)24

3) Sum of x3 and xg th terms of an arithmetic sequence is 44

a) What is its 6 th term?

b) If the first term is 7 then what is the common difference ?
4) Algebraic form of an arithmetic sequence is 3n + 2

a) What is its fifth term?

b) What is the sum of first and 9 th term of this sequence?
5) 13 th term of an arithmetic sequence is 30.

a) What is the sum of first and 25 th term of this sequence ?

b) If the second term is 8 then what is its 24 th term?

6) Angles of a quadrilateral are in an arithmetic sequence if these are arranged in
an order.If angles are x1, x2, x3 and x4 then



a) What is x1 + x4?
b) What is xo + x3?
7) Angles of a pentagon are in arithmetic sequence.The angle comes as the middle
term of the sequence is 108°
a) What is the sum of first and fifth term?
b) What is the sum of second and fourth term?
c¢) Can the smallest angle 36°.Give reason

8) The terms of an arithmetic sequence having even number of terms are grouped
as given below

(11,32), (14,29), (17,26), (20, 23)

a) What is the common difference of this sequence ?
b) Write the algebraic form of this sequence?

¢) What is the sum of all terms of this sequence?

9) A flower carpet is made by arranging the flowers into 17 concentric circles
making the number of flowers in the circle an arithmetic sequence.The inner
circle , which is supposed to be the first circle contains 5 flowers and 9 th circle
contains 37 flowers.

a) How many flowres are there in 17 th circle?
b) How many folowers are there in 8 th, 9 th and 10 th circles in total?
¢) What is the common difference of this arithmetic sequence ?
d) How many flowers are there in the flower carpet?
10) Look at the pattern carfully
1+2=3
44+54+6=7+4+8

94+10+11+12=134+14+15
16 +17+18+194+20=21+22+423 +24

This is the summation of natural numbers making a pattern
Answer the questions given below

a) Write the number of numbers in each line as a sequence .
b) How many numbers are there in the 10 th line

¢) Which number comes in the left end of 10 th line?

d) Which number comes in the right end of 10 th line?



e) There are n numbers in the left side of = in a line. What will be the numbes
of numbers in that line?

Answers

1) 40

2) 24

3)

4)

5)

6)

7)

8)

9)

10)

a) 22
b) 5d =22 —-7=15d=1 =3

a) x5 =3 x5+2=17
b) 21 +x9g=2X25=2x%x17=34

a) 60

b) zo + x94 = 60,2904 = 60 — 8 = 52

a) Sum of the angles in a quadrilateral is 360°. Since the sum of the terms equidiatant from both ends
are equal 1 + x4 = 180

b) x9 + x3 = 180

a) xr1 + x5 =2 x 108 = 216
b) 216
c) If the first term is 36 the fifth term will be 216 — 36 = 180°. Angle of a polygon cannot be 180°.
It should be less than 180° for a convex polygon. So the smallest angle must be greater than 36°.
a) x1=11,28 =32 > 7d=32-11=21,7d=21,d=3
b) z, =3n+8
¢) Pair sum is 43
Sum of the terms = 43 x 4 = 172
A x1+x17=2Xx39 =74
5+ x17 =T4, 217 =74 —5=069
b) g + x19 = 74 . Therefore xg + x9 + x10 = 74 + 37 = 111
() 8d=37-5=32,d=32=4
d) Sum of the terms is 17 X 9 = 629
a) 3,5,7,9--.
b) 11+10=21
) 10 =100
d) 120
eyn+n—1=2n—-1
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For SSLC Examination 2021-22

Topic 3: In an arithmetic sequence having definite number of terms sum of the
terms equidistant from both ends are equal.

If the number of terms is even we can make % pairs taking terms equidistant
from both ends.

If the number of terms n is odd there will be a term in the middle without a

pair.This will be ”T“ th term.This term will be half of the pair sum

Paper 3

Score 25
Time ——

1) 8@ TVAMACYYIMIWYSHS GaNIo alBo 20@RYWITI BANINODAM Vo BRERIINDOD QYo
a1363BBOS D af)(@?

(@) 40 (b) 20 (c) 30 (d) 35

2) B@ TVBOANOEUYIMIWHS @BRYBLAIBZAN]HMRWo G0 alBONINMIQo Dd: 24 @RYeN”
@610 A IBOM1HMWV @RYOo alBOMIOMWo D& af)(@?

@48  ®20  (©37 (d)24

3) 8@ MLAIAMMOEYYMIQYHS JaNIo alBOMIOAFWQ0 o IQDHENI0 A IBOM 103V @ dh4d4 @ryem”

a) CUYIMIYAS BRYOINODAD alBo af)@®?

b) @GRBYalIBe 7 BRYWIBS HaldDAY® LMo af)@?
4) 8@ TLVAANOCUYIMIQSS MARWIMID@alo 3N + 2@RYeM”

a) CEUYIMIWHS @REMIJo allo af)@?

b) @B IBOM]HMWRWo 308ai®0 alBOMIOMWQYo D af)@?
5) 8@ MVAIINACUYEMIYHS al®1PaMIo allo 0@RYeM”.

a) 8MNI0 alBOM1HMWWo MBaIOM W0 aIBOMIOMWo D af)@?

b) @220 allo 8 ERYWIBS 24 NOOD aIBOA®D?



6) 8@ 2IDABROM 1O EHIMDHUY (HAOHDI af) §B1WIB MVAIMMAEUYM W] LI0BH00.
GHIEMHUB X1, Lo, T3 L4 BRHYQIGI

a) T1 + T4a0)©@?
b) T2 + 300)@?

7) 8@ alRISROMINHAZ GHIMOD:UD MVAIMMOEEHEMIWLM”.Mmg0eel ¢H06m108° @aryem”

a) 80Mdo alBOM1OHMBWo @RI A IBOWIOMRWo D> af)@?
b) @200 aIBEM1HMW®Wo MILId0 aIBCMIOMWWo D& af)@?
C) aQ0lo 2I01W GHIEM 36°@RYH:62I? ANVod1H:C1H6:

8) 8@ MVAMNOEUYEMIVHS alBBBBAS ag)fiNo MOZIVORIJWIEM”. ANBYADMTATVo
BCO BRGHOLIYSS al3633U3 GRISICAIBOD af) Y@ 1W1B]Hs30M0

(11,32), (14, 29), (17, 26), (20, 23)

a) ®ald@AlY® IOV af)(@?
b) cwryeMIwes mARweMI®Mo af) YD H:
C) BUYMIYAS alBEBRBOS D af)(@?

9) 8@ addO8o OMBIGH1WIREBM® 17 oG GHBQYOMEBRRIWIEM”.QYOMEBS]HE
adBPBOS af)siNo MVAIMMAGUYMIWILI6M”.aBQ0Jo BRBHHOD YANHOH1®3 @61
aJHOSME".BMaIMONOOD YODONI@S 370 oM.

a) al®1EMLINOHOD QAUAIWID )@ addOBeNE"?

b) 8,,9, 10 agam a101a8e|ss 0JH9BOS af)eMODD®?
C) MY GEYMMIYHS HaldDA®LIMVo af)@?

d) adoO80MIG3 @RYOHD: af)@ asOgens’ ?

10) @969 OHIFOMIV1ABAN 2 Il0EQNY CMING D
1+2=3
44+54+6=7+4+8

94104+ 11+12=13+14+ 15
16 4+174+184+19+20=21+22+23 + 24

af)sIP@3 MVoRIYHBOS DBHWIEM” (A 1B012{101e8M®”
@I HHIFOMIBTHBAN G2l0BYBRUIHN DOMONALD D

a) 639602 QAIE1VILIYL MVoRIYd:SeS af)siRo GUYIMIWIW] af) D

b) alomIo AUGIVI@ ag)@ TVoa I BHBeNS"?



C) alO®do QIO1WY]OLI MHSHOD BRYADD MVos)Y aB® ? 3
d) alo®Io QITIVIRLI QILIHOD GRYHO Moy aB® ?

e) = @ERSWISOWNA] MSDOINOD NaVo6 BN 103 ERYAUBIVIM )@
VoA HUd DENBIds0 ?

Answers

1) 40
2) 24

3) a) 22
b) 5d =22 —-7=15d=12 =3

4) a) r5=3x5+2=17
b) x1 +2x9=2Xx5=2%x17=34

5) a) 60
b) o + x94 = 60,204 = 60 — 8 = 52

6) a) emoemd @a» 360°, x1 + x4 = 180
b) o + x3 = 180

7) a) 1 +x5 =2 x 108 =216
b) 216
¢) @REYaIRe 36ERYWITS @RI al130180@RY@:0.Mip0sROMNM 8@ ¢ aalenejo 180° @r@:amlel.aggoje
00101® CHHM36@I ZHS®LIHHEMo
8) ax1=11,28=32—->7d=32-11=21,7d=21,d=3
b) x, =3n+8
c) Pair sum is 43
Sum of the terms =43 x 4 = 172
9) a)xi+trir=2Xx9="74
54+ x17=T4,x17 =74 —5=069
b) xg + 19 = 74 . Therefore xg + 9 + x19 = 74 + 37 = 111
() 8d=37T-5=32,d=% =4
d) a1BeBRges @ 17 X x9 = 629
10) a) 3,5,7,9---
by 11+10=21
¢) 10?2 =100
d) 120
e)n+n—1=2n-1
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Topic 4:In an arithmetic sequence having odd number of terms there will be a
middle term. It is obtained by dividing the sum of terms by the number of terms.

If the sequence has even number of terms ,say n then the terms can be made
into 3 pairs

If x1 is the first term and z,, is the n th term of an arithmetic sequence then sum

of the terms = (v1 +x,) X §

The sum of the terms of an arithmetic sequence is always in the form an® 4 bn

Paper 4

Score 30
Time ——

1) Sum of the first 9 terms of an arithmetic sequence is 108. What is the fifth
term?

@15 ®12 (©13  (d)15

2) Sum of the second and nineth terms of an arithmetic sequence is 42. What is
the sum of first 10 terms?

@480 (120 (210  (d) 240

3) Algebraic form of an arithmetic sequence is 5n + 3

a) Write the first term and 20 th term of the sequence

b) Find the sum of first 20 terms
4) 13 th term of an arithmetic sequence is 76

a) What is the sum of first and 25 th term?

b) Calculate the sum of first 25 terms?
5) Sum of the first n terms of an arithmetic sequence is 2n> + 3n

a) What is the first term?



b) Find the sum of first 20 terms of this sequence?

6) Sum of the first 10 terms of an arithmetic sequence is 250 and fifth term is 23

a) What is its 6 th term?

b) Find the first term of the sequence.
7) Consider the arithmetic sequence 1,4,7,10- - -

a) Write the nth term of the sequence?
b) Find the expresson for the sum of first n terms of this sequence.

c) Calculate the sum of first 20 terms of this sequence.
8) Consider the arithmetic sequence 6, 10,14 - - -

a) What is the common difference of this sequence?

b) What is the value of xo1 — 1 , X920 — X2 , X293 — T3 - -~
¢) What is the difference between the sum of first 20 terms and the sum of

next 20terms.
9) 1,3,5--- is an arithmetic sequence

a) Write the algebraic form of this sequence
b) What is its 20 th term?
¢) Find the sum of first 20 terms of this sequence

d) Using this sum calculate the sum of first 20 terms of the sequence 6 + 8 +
10 4 - --

10) Study the following arithmetic sequences
1,2,3,4--- the sequence of natural numbers
2,4,6,8,10- - - the sequence of even numbers
1,3,5,7,9--- the sequence of odd numbers

* Sum of first n natural numbers = n(n;l)

* Sum of first n even numbers= n(n + 1)

* Sum of first n odd numbers = n?

a) What is the sum of first 10 natural numbers ?
b) What is the sum of first 10 even numbers?
¢) What is the sum of first 10 odd numbers?

d) What is the difference between the sum of first 100 even numbers and
sum of first 100 odd numbers?



e) How many odd numbers from 1 in the order make the sum 900? 3

Answers

) a5 =108 =12

2) Sum= (21 + 210) X & = (22 + 39) x L =42 x 5 =210

3)

4)

5)

6)

7)

8)

9)

10)

a) r1=5x14+3=8
Tog =5 X 204+ 3 =103

b) Sum= (21 + 90) X & = 111 x 10 = 1110

a) 1+ x05 =2 X 76 =152
b) Sum= 152 x 22 = 1900

a1 =2x124+3x1=5

b) Sum of first 20 terms = 2 x 202 + 3 x 20 = 800 + 60 = 860

a) :vﬁ—xloz%:k’)o
x5 + x¢ = 50, 23 + g = 50, 2 = 50 — 23 = 27

b) d=xg — x5 =27—23=4
x1:x5—4d:23—4x4:23—16:7

a) zp=dn+(f—d)=3n+(1-3)=3n—-2

b) Sum of the first n terms = (z1 + ) X § = (14 3n —2) x

¢) Sum of the first 20 terms = % x 202 — % = 590

ayd=10—-6=4
b) xo1 — 23 :2Od:80’$22_:ﬁ2:20d:80“'$40—1’20:20d:80,
¢) Required sum = 20 x 20d = 20 x 80 = 1600

a) 2n —1
by 2x20—-1=239

¢) Sum= (z1 + z20) X 2 = (14 39) x 10 = 400

Note that sum of the first n odd numbers is n2.

d) 6 +8+10+--- — (20terms)
=(5+1)+(5+3)+(5+5)+ - -
=5 x 20+ 400 = 500

2) 10(1;)+1) _ 55

b) 10(10 + 1) = 110

¢) 10?2 =100
d) 100

Note that n(n + 1) —n? = n
e) 30
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Topic 4:3@ AVAIMMERWMIVINAI AIBERROS ag)sTRo BYAVoAIY @RYWIM MG 8@
2 130)6MRIWIEl8830.0 IBBBLINS DBHOW af)sTRo HMINE a0@12J0@ MGalsel aldo algam.

AIBEBBNS af)sTNo MOEFAVoRIY @RYWIMD P6MNE @PQED MlMMo BGO BRHHLIYBS A I3ERHSB
@a13@1 5 6R0S1HBIH9I0

@QEJalto T190 NAOO® alBo T; Qo GRHWIT AIGEBSOS Dh— (x1 4+ ) X 5

TVDIMOCWMIQSS 7 AIBEBBOS D> an? + bnagom moavienidaso.

Paper 4

Score 25
Time ——

1) 8@ ALVOOMOEEEHIMIQSS BRYBIOO® I aIBEBES @ 108a@yem”. @emIdo
alBo af)®?

(@) 15 (b) 12 (c) 13 (d) 15

2) 8@ MLAAMOEUYMIWHS B6M=I0 o IBOM 1OV BMal®Io alBOW 1OV Dd»
42@Rem’. GRBIHOD ol al3EBRSOS @& a@? 10 ?
(a) 480 (b) 120 (c) 210 (d) 240

3) 8@ AVMIAMOCUYMIWHS NARVIMID@Balo HNn + 3@RYeM”

a) BRYBYAI30Jjo MBaI®Io al30jo af)EDd:
b) @RBIOOD DTBaI®’ A IBEBSOS D& af)@?

4) 8@ MVOIDOCUYEMIQNS al®IYaNIo allo 76@YeM”

a) @ERRYAIBOM1OHMRVL DMGWaIOHTWERII0 aIBON1OHMWBV Dd: af)@?

b) @B O™ MBGBalom Wi’ a1368B86S D af)©@?
5) 8@ TVAIANOEUYETIYOS BIRYBIHOD 1o lBEBSOS D> 2n? + 3neyem”

a) GUYIMIWAS @BYBLal3o af)@?
b) @REOO® 20 ~I1BEBEOS @B af)@?



6) SO MVMMMOEUYIMIYHS BRYBIHOD a0 alBEBRSHS D& 250 @RYEM,EEYIMIWSS
@6MId0 allo 23
a) GUYEMIWHS @RYOINODD alBo af)@?
b) 6WyIMIYeS @RBaIB0 af)@?
7) 1,4,7,10 - - - agyan avooameeuyem] aldlwemIiasd

a) MM BUYMIWHS N- 200 alBo af)§Dd>
b) cwyeMIes @BRYBIOHODNLaIBEBBOS D af) D
€) @EYOO®20aIBEREeS @D af)@?

8) 6,10, 14 - - - agam VMM OEUYM alB1WNMIBs3H

a) OV CUYIMIWHS HaldDAYDLIMVo af)(@?

b) o1 — X1, T22 — T2, Ta3 — T3 - - - af)@ Ofl®REM

¢) @EYOO®20aIBaERgeS @HWo afliNIges 20 aI3aR80S DHHWo Mnle|ss
QY@ {2TVo af)@?

9) 1,3,5 -+ ag)an avmamacuyeml aldlnemI1osd:

a) MM GUYIMIWHS MARWMID@Balo af)§DH:

b) M GUHAMIYHS OWaI®I0 allo af)@?

€) @EYOOD 20aI36ER8OS D o) @?

d) 6 +8+ 10 + - - a)a» cEIIMIYOS @RYBIOO® 200 136EBBOS DB af)@?

10) @20 HIMAM GUHMTHHUY EMNIBEBD:
1,2,3,4- - af)sm@avoalydcumem]
2,4,6,8,10- -+ o500 5865 GEHM]
1,3,5,7,9 - 8Quoalyé:ges euyeml

n(n+1)
2

* @RBIOODNDAZMVAILHBOS D = n(n + 1)
2

* @RYBLOONNaf)fINGIMVORILHBOS Ddh =

* @RYBAOON 63%)(“)06)_506326)8 D =N

a) @REIEOM 10afeNaIVoaIidH8eS @d> af)@?

b) @RBIH@D alO® MHOSAMVoaI {HBOS Db af)@®?

C) GRYBIOOD al0D BYAVOAUIMHBOS D af)(@?

d) @RBEee®100megMVnIi®80S Do BREIROm 10089MV0aIy?»86S D& 0
@ 1eJ83 QY@ {IMVo af)@?W

e) GRBIHOD af)@ BQMVoaIYd8eS @HWIe I00?

1
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Topic 5:A sample paper based on all topics of Arithmetic Sequence

Paper 5

Score 25
Time ——

2)

3)

4)

5)

6)

7)

8)

The difference between 8 th term and 12 th term of an arithmetic sequence is 5. What is the difference
between 10 th term and 22 nd term?

@16  ®15 (@©13 (d)10

The sum of first n even numbers is k. What is the sum of first n natural numbers ?

@2k (5 ©k>  (dk+2

Sum of the terms of 1,3,5,7--- from 1 in an order is in between 900 and 1000

a) Which number is the sum ?

b) How many terms make this sum ?
2,5,8--- is an arithmetic sequence .

a) What is the remainder obtained by dividing the terms by the common difference?

b) ’Perfect square is not a term of this sequence’. Can you agree with this statement ? Explain
5 times 5 th term of an arithmetic sequence is equal to 10 times its tenth term.

a) Form an equation by taking f as the first term and d the common difference.

b) What is the its 15 th term?
Consider the sequence of numbers 2 more than the multiples of 3

a) Write the sequence numerically

b) Which is the smallest three digit term of this sequence?
As we know the sum of the angles of a nine sided polygon is 1260°. It is found that these angles are in
an arithmetic sequence if arranged in the order.

a) What is the middle term of the sequence ?

b) If the smallest angele is 108° then what is the difference between two adjacent angles?

¢) What is the measure of the largest angle ?
10 th term of an arithmetic sequence is 20 and 20 th term is 10

a) What is the common difference?
b) What is the 30 th term?

¢) Find the first negative term of this sequence.



9) First term of an arithmetic sequence is % and common difference %

a) Write the algebraic form of the sequence
b) Is 1 a term of this sequence ?
c) If 1 is a term, at what position 1 appears as a term ?

d) At what poistion 100 appears as a term in this sequence ?

10) Powers of 2 and its digit in one’s place are given below.Observe the table carefully and answer the

)
2)

3)

4)

5)

questions

Powers of 2 | Digitin the ones place
2'=2
22=4
2°=8
2*=16
2° =32
2°=64
2"=128
2° = 256

|0 ||

a) Which of the following cannot be the digit in the one’s place of the power of 2
@2 (b) 3 (4 (d)6
b) Which of the following is the digit in the one’s place of 299
(@2 (b) 4 ()8 (d)6
¢) What is the digit in the one’s place of 2100
(@2 (b) 4 ()8 (d)6
d) 2" has one’s place 6. which of the following can be the value of n?
(@) 12 (b) 15 (c) 21 (d) 30
e) If m 4+ n = 26 then what is the digit in the one’s place of 2" x 2"

@2 M4 ©8 (d)6

Answers

15

a) 961
b) 31

a) 2

b) When a perfect square is divided by 3 we get either 1 or 0 the remainder.Here the terms of this
sequence gives the remainder 2 on dividing by 3. That is perfect square cannot be a term of this
sequence.

a) 5% (f +4d) = 10 x (f +9d),5f 4 20d = 10f + 90d — 5f + 70d = 0



6)

7)

8)

9)

10)

by 5f +70d =0 — 5(f +14d) =0, f + 14d =0
Thatis 15 =0
a) 5,8, 11---
b) Largest two digit multiple of 3 is 99.Smallest three digit multiple of 3 is 99 + 3 = 101

a) Tr5 = @ = 140. Middle term of the sequence is 140

b) x1 = 108,4d = 140 — 108 = 32,d = 8.
The difference between two adjacent angles is 8

c) x9g = x5 + 4d = 140 4+ 4 x 8 = 140 + 32 = 172. Largest angle is 172°

a) x99 — r19 = 10d - —10 = 10d,d = —1
b) 230 =220 +10d =104+10x -1 =10—-10=0
¢) w31 = w30 +d = 0+ —1 = —1. ltis the first negative term .
0 o= dnt (1= b= dnt f =
b) When n = 5 we get fifth term 5%51 = 1. Fifth termis 1
O ap=12=1-n+1=6,n=>5uz5=1
d) 100 = " — n 41 = 600,n = 599
599 = 100
a) 3
b) 2
c) 6
d) 12
e) 4
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Topic 5:A sample paper based on all topics of Arithmetic Sequence

Paper 5

Score 25
Time ——

1) 8@ MVONEBUPMIYHS af)Sdo al30jo al@DHNBI0 alB30jo MBS QAIYMIITVo HERYWIT AlTINIo
al30jo MGBalOM] N0 al30jo MMNLIBS QYD OV af)(@?

@16 ®15 (@©13  (d)10

2) @QBIOIL DOZFIVORISHBOS D k @ywomd @BIRYBYOHTNLag)EMBETVORIYHBOS Db af)@?

@2k L  ©F  (@k+2

3) 1,3,5,7- - aam q0200006@smIQes 1ao@ @584 ai3amges @@ 900 omlmo 1000@mao
anslenem”

a) @& a)@?
b) a)@ lB36ER8OS DBHWEM”?

4) 2,5,8 -+ a)am AVAADOCYYM] alR1WEMIBGB .

a) alBEBReO8 Hal@A®IOMV0 HBHIME" a0@]20eI88 WlaYo af)@?

b) oM ¢EYIMIVI@3 oJBeMAIBNEEBRUT aIBBIKIEL MD @JIVIOIM VAIWIEIMI? NABMO]ABS’

5) 8@ MAINOEUYEMIWHS BREMIJ0 alBOM1HN) @A ASEEE" o IOMIo o IBOW]O o IO ASEEEIM” @L1yn06m”

a) @YBRYalBo [, Halo@AII®LOMVdBRYWIB TVAAI®:L0 af)§Dd>

b) aI®Imendo alBo ag)@?

6) 3603 VIMIMEBBEBIS” 231W MVoAIIEUYMT alAIWEMIBB

a) GEYMI af) Y@

b) cEIMIYOS aBQOJe § 21010 YANBHAVoAIJIA 130 Af)EDd:

7) SMal® QIEBESSS BG MIgOMROMIOIG CGHITVHSHS D 1260° @ryem”.enm G 06eMmdhud MM EUyemIwlenem”

a) ceeMIWes Mmsafleel alBo ag)@?
b) aggalo 2101 e 108° BRWIG P’ ERSOMSTV S BHIFMVDHBHS AUY®IOMV0 af)@?
) oBQOJo QIR EHIEM af)@?

8) B8® MVMINMOCUYIMIQNS alMIo alBo 20 , MH@WaI®Io aldo 10

a) 9@ IIMVo af)(@?

b) eWYMIYHS Qa|®o alBo af)@?



9) 8@ ALAANOEYYMTQHS @RYBal30 % , ©ald@AIY®YOMo =

) GRBLOCD MYDIMVRIL0a IR0 o) @?

1
6

a) cWeMIWes MRV GBalo af)§Dd:
b) 1 M cEyemIWes aI3mIEMI?
C) @RRMEIM af)(@IRODO al3Ro6em” ?

d) v ewyem1ms 100 of)@2000® aldmoem” ?

10) emM=1eal @(zsﬂoe;go @RAIYOS BQYHS MLOOMOOD BRANEBBBo IOY OHISOM 1V HBAN

Powers of 2 | Digitin the ones place
2'=2 2
22=4 4
2°=8 8
2*=16 6
2° =32 2
2°=64 4
2"=128 8
2% = 256 6

a) 2003 HOIWSS BQYHS TLNIMOBN BRHNO BRYGHITND® aF@® ?
@2 (M3  ©4 (d)6
b) 296)038 BQWOS MNIMEOTD BRINCAD ?
(@) 2 ®4 (8 (d) 6
) 2100@@ BQWQHS MVOIMOD BRANCA® ?
(@) 2 ®4 (8 (d) 6
d) 2"ea3 8Qes munomo 6@RYEM”. NERYG:IM aVoaIY?
(a) 12 (b) 15 (c) 21 (d) 30
e) m +n = 26ERrIa 2™ X 2" §0j BQWOS TVLOIMHOD BRHNCAD® ?

(@2 (b) 4 (98 (d) 6

Answers

1) 15

2)

3)

4)

5)

[SlE

a) 961
b) 31
a) 2

b) aJBERABNHOD® 360?06 20@) 2J0@3 Ulalo 1 GReEIBN@E0 ERVIGlER0. MV GEHEMIVIeE! aI3EROS
36306nE" 2001 2J0@8 Wolatgo 2@RYEM. MD GEMIVITS aJdMAUBWR aIBRIBIEL

a) 5% (f +4d) = 10 x (f +9d),5f 4 20d = 10f + 90d — 5f + 70d = 0



by 5f +70d =0 — 5(f +14d) =0, f + 14d =0
@ T15 = 0
6) a)bH,8,11---
b) 3 603 agigale AN EMEEHYEMI®o 99.08390l0 2101 YaneeYeMImo 3 is 99 + 3 = 101

1260
9

7) a) x5 = = 140. msgansel al13o 140

b) z; = 108,4d = 140 — 108 = 32,d = 8.
@EROMSODBS H6NE 0 IBEEBSOS QYO0 8

¢) T9 = x5 +4d = 140 + 4 x 8 = 140 + 32 = 172.ag9040 qleN®@ cH06m 172°

8) a) x990 — x19 = 10d - —10=10d,d = —1
b) 230 =220 +10d =104+10x -1 =10—-10=0
) 231 = 230 +d =0+ —1 = —1. GRBLOOD MYMMVRILAIZ0 .
9 st (b—h) = dnrd -2
b) n =5 @ERWITI @GReMIJG nJGoE’JG%lzl. @QBY af)eNRGTVoRILn 130 1
O ap,=12=1-n+1=6,n=>5u25=1
d) 100 = 2 — n + 1 = 600,n = 599
T599 = 100
10) a) 3
b) 2
c) 6
d) 12
e) 4
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